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Question Number : 1 Question Id : 3354726831 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Who was the first Chief Justice of Madhya Pradesh? | H23 0SS & Ugel JEI ~ARTET #17 &7

Options :

1. ® Justice P.V. Dixit | =Imwid Ut =1 gitga

2 ¢ Justice M Hidayatullah | =Igid or Baragear
3. % Justice H ] Kania | ~2Tomjd U=l & &=
4 #® Justice Ajay Manikrao Khanwilkar | ~Tomid S AT GHdA®

Question Number : 2 Question Id : 3354726832 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
which is the space shuttle in which the Indian-born astronaut Ealpana Chawla went into space for the first

tme? | ARG B AT STy Tt FeT SaeT Uge ! S e Sy I F sfaiey § me ot
Options :

1. ¢ Columbia | Fidf=2T

2. ¥ Discovery | @l

= ¥ Enterprise | Tet0TEA
4 % Atlantis | SEATCH

Question Number : 3 Question Id : 3354726833 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Wwho established the four Mathas in the four corners of India? | 9T & IR 41 § I° 7% - T e

Options :

1. ¥ Rarmkrishna Faramhansa | THE WA

2 ® Swami Vivekananda | T B

=. % Shankaracharva | SRR

4. % Swami Davanand Saraswati | T ST AeEad T

Question Number : 4 Question Id : 3354726834 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

“world Cancer Day’ is celebrated on
HATT AT 81

Options :

1. ¢ 4th February | 4 Bt
2. ¥ Sth February | 5 Har
3. ¥ gth February| 6 Beadl

4. ¥ 7th February | 7 Heal

of every year. | “Tover e Tgaw, uqo® Oy Eaj

Question Number : 5 Question Id : 3354726835 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

which former sportsperson was appointed as the most recent Sports Minister of India? [ g g1 # forg 4 et
T URT & G B4t o =0 1 g e mar e

Options :
1. ® Virendra Sehwag | dig ggamT
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2 # Rajyavardhan Singh Rathore | TFae g 78K
2 # Gautam Garnbhir | T 77

4. ¥ Saina Nehwal | TEAT S5aTe

Question Number : 6 Question Id : 3354726836 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

which one of the following states will host the National Games of India in 20197 | FEHAET § § #1991 0=
2019 H qRT & TET Al Sl HoAaTT Be?

Options :
1. ¥ Assam | &WF
2. ¢ andhra Pradesh | 3l ngyr

= % Harvana | giamm

4. % Maharashtra [ AgNES

Question Number : 7 Question Id : 3354726837 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

How many languages appear on a new Five Hundred Rupee Note, apart from Hindi and English? | 9r | #97 &
T AT O TR W ST 3 ST o Wy w5 gy

Options :
1% 1d
e -,
- B
4. ¢ 15

Question Number : 8 Question Id : 3354726838 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
which of the following is the eastern most state of India? | FEAET § § 9N &7 Ge G5 0o @19 6787

Options :

1. % Assam | W

2. % Nagaland | ATTHE

2. % Arunachal Pradesh | S0 W
4 ® Mizoram | TiFRE

Question Number : 9 Question Id : 3354726839 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Wwhere in India is the National Sports Museum going to be established? | 9RT H TP S GUETAT 5T T ToFam

Options :
1. % Patiala | ufeamaT
2. % Bangalore | AR

= % Hyvderabad | 32t@E
4 % New Delhi | A% fEeait

Question Number : 10 Question Id : 3354726840 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong : 0

what is ‘Jaya Samhita’ better knowrn as? | 9 GlgdT & &gd€ [od &1 H FE1 A7 57
Options :

1. % Mahabharat | AT

2. ® Ramayan | THMET

= ® Samaved | gWdg

4. ® Rigved | ®idg

Question Number : 11 Question Id : 3354726841 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Rani Durgawati is associated with_____ T gt T
Options :

1. ® Rewa | T

2 ® Gwalior | e

2. ® Panna | mET

4. % Jabalpur | SEdqT

Question Number : 12 Question Id : 3354726842 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Wwhere is the Security Paper Mills located in Madhya Pradesh? | FeT udar # Ui #7= #REHT #51 G 27
Options :

1. % Hoshangabad | glammans

2. % Dewas | 4™

= ® Gualior | ETEET

4 % Dhar | ¥

Question Number : 13 Question Id : 3354726843 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The district head quarters of sirgrauli 15 situated in

Options :

1. % Waidhan | 2&9

2. % Singrauli Nagar | Rl 17
= ® Sarai | WH

4. % Chitranji | =T

Question Number : 14 Question Id : 3354726844 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
where in 5atna is the Gola Math situated? | JF47 H THAT A5 T5T 09T 57

Options :

1. % Maihar | #5¢

2. % Nagod | AmiE

3. % Paran | URH

4. % Raghuraj Nagar [ Tgi{ A1
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Question Number : 15 Question Id : 3354726845 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
where is the group of 22 temples, dating from the 8th to the 12th centuries, situated in Morena? | AT H S&T &

12t aarfedal @ SR 22 Al @7 agg Fgl a7
Options :

1. % Naresar | T80%

2. % Joura | JRT

2 ® Jawia | ST

4. % Noorabad | TEE

Question Number : 16 Question Id : 3354726846 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Name the mountain range in Hoshangabad. | glammeng # W2E vda sgamst & 911 aqm

Options :
1. ¥ vindhya | e
2. % Aravali | SR

2. ¥ Satpura | §EYST
4 % Maikal | B

Question Number : 17 Question Id : 3354726847 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Cn the bank of which river is town of Balaghat situated? | T 951 & 72 O TATHIE &7 5T 684 &7
Options :

1. % Narmada | 7HgT

2. % Wainganga | I=I0

= ® shipra | TamT

4 % Betwa | sdar

Question Number : 18 Question Id : 3354726848 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The ’SOU%} Asian Speakers' Summit 2017 was organized at ________ .| STE gldeng v TR gv e 2017
T 41

Options :

1. ® Nagpur | AT
2 % Jaipur | S9YY
= ¥ Indore | 52T

4. % Raipur | @<

Question Number : 19 Question Id : 3354726849 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The river that separates the western and eastern part of the andhisagar sanctuary 15_____ ) I ETE e e et
o UTeeTHT 31T TEfT T T ST w e STl Ag

Options :
1. % Chambal | @&
o % Ken | @4
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3. % Son | 99
4 # Vamuna | FAT
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Question Number : 20 Question Id : 3354726850 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The first state in India to enact a law on Public Services Delivery Guarantee is

EACCRCEIC I L= A v S 2

Options :

1. % Sikddm | Tigw

2. % Andhra Pradesh | &Ml nda
=, ¢ Madhya Pradesh | 73 W24
4. ¥ Odisha | efifEar

Generdl Maths and General Aptitude

Section Id :

Section Number :

Section type :

Mandatory or Optional:

Number of Questions:

Number of Questions to be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

335472204
2

Online
Mandatory
20

20

20

Yes

No

1
335472204
Yes

Question Number : 21 Question Id : 3354726851 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The sum of 2 nurnbers is 204, Ratio of first to second is 2:2 and the ratio of second to third is 5:3. Then the

second nurmber is: | 3 FEATSI B TG 204 g1 WrH &7 Tad 140 SRum 2:3 § 571 T 127 o7 T 19 & S 5:3 31 97 Tt

E@T%’:
Options :
1. % g0
=% 59
2% 50
4. 9 90

Question Number : 22 Question Id : 3354726852 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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The square is 6 x 6 and all the strips are of equal width 1 unit. The fraction of the square shaded black
is_ /3 6xe®T & 3T T3% ofzar 1 sws & aueax TS &1 £ seeifEa e a9 &
3Fer Bl

=l

Options :

1% 12
= s
L e
4 % 5112

Question Number : 23 Question Id : 3354726853 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Fill in the blanks: / & T #

xMH4Tx+12=__ (xt4)
Options :
1. % x-4
> ® x-3
Gk i ok
4 %® 344

Question Number : 24 Question Id : 3354726854 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
From the set of numbers {2, 2, 5, B, 8, 9, 11, 12} we need to select 4 numbers whose surm is 21, Find the

largest nurmber that can be a member of such 4-element set. | {2, 3, 5, 6, 8, 9, 11, 12} G&amsil & THg[d 9 74 4
T W T AT 5 T IEA 21 31 39 ATwaH ST B F1 B A1 56 4 SAIdl & AggT F1 G5 5 Awdl gl

Options :
. ® £
2 ® g

CH
4 ¥ 11

Question Number : 25 Question Id : 3354726855 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
A right circular cylinder has base circurnference of 44 crm. If the height is double the radius, then the wolume

i5___. | T Tl g st 0 ST Ui TE 44 |t 1 Tf g, et & gt g, a7 s
Options :

1. ¥ 2156 litre | 2156 &t
z #® 2156 litre | 215.6 #ieT
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= % 2 156 litre | 2 156 #ier
4 % 02156 litre | 0.2156 #iet

Question Number : 26 Question Id : 3354726856 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
By what should 75 be multiplied to get 72?2/ 729Itd &d & folT 78 &t fhaad & 3107 Torar

SATAT ART?

Options :

1 %

= o

|
[ =] et

Question Number : 27 Question Id : 3354726857 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Solwe: | T T

{4y (____) = Sma+mb+5na+nb
Options :

1. ¥ Sa+b

2 % 5a-pb

3. ¥ a+45b

4. % 3-Sp

Question Number : 28 Question Id : 3354726858 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Find the average. | &g Mz

17, 76, 24, 45, 13
Options :
i, % 3%
=4 2
L
4 ® 35

Question Number : 29 Question Id : 3354726859 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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The students in a class took a Math test. Two-thirds of the bovs and % of the girls passed the

test. [tis noticed that an equal number of bovs and girls passed the test. What is the minimum

possible number of students in the class? / Tdh h&TT H w o FOTT hr 9Lr&TT anl
gr-fagis d@s&i 3R ;mﬁﬁﬁwmﬁiﬁl I @ 4T § R esa 3k

wsfahal &7 el T o TR 3cdior ﬁl%ﬁﬁ%’c{ﬂﬁﬁﬁmﬁ EIER]
HE&AT 4T gl

Options :

1, W7

.

3 ¥ 34

4 % 24

Question Number : 30 Question Id : 3354726860 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

A train which 15 150 m long passes through Raj travelling at a speed of 26 krmfhr. How long will it take for it to
pass Raj? | Tw et =t fof 150 HSE well 8, 36 TRAT/ o 61 7Id & e0d g7 T 1 O Fed | 51 T Bl 0T et H =7 o
THL w7

Options :

1. % 20sec | 20 G9UE
2. % 18sec | 18 @z
3. ¢ 1S5 sec | 15 daE
4 ® 12sec | 12 d9vE

Question Number : 31 Question Id : 3354726861 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The big triangle is equilateral with area 18 sq.cm. The 3 lines are parallel to the sides trisecting

the sides. The shaded areais___ ./ &3T fA&I0T U qHdg & foger aawer 18 aat a4 21
3 Y@IT 3T T ARRAEAT Rl §7 gl & TATRK &l A=olied SAhd
el

Options :

1. ¥ gsq.cm | 6 {HT
2. ® gsg.om | 9 T HAT
= % 11sgeom 11 =9 547
4. % 12 sq.cm | 12 39 947
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Question Number : 32 Question Id : 3354726862 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The number of students who opted for IT courses decreased by 23% If the number is 1540 at present, then
the original number of students opting for IT course was: | arl'gﬁ UTEISEH T T 0 o dTe B30 o §EaT § 23% &

FHT 318 71 Al adHH | < F%47 1,540 B, T SSCT UTaae ! & o< @0 dlet S1=1 @1 59 aea off:

Options :

1. % 1600
z % 1800
= ¥ 2000
4. ® 2200

Question Number : 33 Question Id : 3354726863 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Five years ago, the respective ratio of the ages of X and ¥ was €:5. 10 years hence, the ratio of their ages will
be 8:7. What is ¥'s present age? | U od Ud, ¥ 3R Y & 9T T HaTeT 07T 6:5 &M 10 o W, I S 7 ST
8:7 TAM Y @ Fd A mﬁm—rﬁ%?

Options :

1. ¥ 2Eyears | 25 a0

2. % 30 vears | 30 a9

3. ® 3Svyears [ 350

4. ¢ None of the above | 304® # & #1751

Question Number : 34 Question Id : 3354726864 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
what is the length of a rectangle whose breadth is 11 cm such that the area of this rectangle is same as the

area of a circle with diameter 14 cm? | 11 #6T TS & 2T & AFTE 70T ST e 890 14 S cama Faa o
HAA & WA 57

Options :

1.9 1l4cm | 14 997
% 1Scm 158
. ® 16cm | 16 &6
4 % I7om 1T O

Question Number : 35 Question Id : 3354726865 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
what is the square of the cube of €7 | & & T9 &7 a7 F4T 57

Options :
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Question Number : 36 Question Id : 3354726866 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

If two supplementary angles differ by 20 degree, then the smaller of the two angles is____. | 4iq & Gqw R0 H
after 20 f21T @1 a7 8, a1 g1 ®ivl # fgee

Options :

1. % g0

SR

3. % 100

4. ¥ None of the above | JU® # & T T51

Question Number : 37 Question Id : 3354726867 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
I£4320 = 2% x 32 % 3¢ _ then find the valne of a_ band ¢. /AR 4320= 2% %32 x5 &l o b

HIT ¢ &1 AT AT B
Options :

1% g=8 b3 g=2

el B W et e W

Eiak = = ol o

4 % a=d h=3 =1

Question Number : 38 Question Id : 3354726868 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

What is the value c:fw.n'{l_5+~\|"'§—5? / xl'{1_5+ﬁ.lll'§—5 ohl HIel T %?

Options :
1, W3
2 %3
529 4
4 %5

Question Number : 39 Question Id : 3354726869 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The total sum of angles in the polvgon is:!ﬁESiEf #H HII &I ool AT &

Options :
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i 808
995°
o R
G500
z ®
4  1080°

Question Number : 40 Question Id : 3354726870 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

A box contains 15 cards bearing numbers 1, 2, 3, .15 A card is drawn at random from the bozx IWhaIt 15
the probability that number on the card is a prime nurnber? | T igee # 1S WERAT 1,2, 3, ..., 15 §=W
S H W A Rad & T U T THRTET ST Rl TR T &2 & ToF Uel UF Tord T 3T U arTe g ST g e

Options :

e b )

2% 218

S %218

4 ® 113

izeneral Hindi

Section Id : 335472205
Section Number : 3
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472205
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354726871 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
T T2 aTel a8 & -
Options :

1. ® aum

2 ¥ T

z ® gew
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4 % T

Question Number : 42 Question Id : 3354726872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

e TUT o SEIOT W a1 a9 G AT 87
Options :

1. ¥ aramy

2. % ggmmr

=¥ SEUuTIT

4. % e

Question Number : 43 Question Id : 3354726873 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
] el -
Options :

1, g

2 %3

- B

4 % Qg

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 44 Question Id : 3354726874 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
T T2 -
Options :

1. ¥ @i

2 ® T

= & e

4 ® g

Question Number : 45 Question Id : 3354726875 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

B Fel o U AR et TRy TR 5l
Options :

1. % & |l

> % i Em

3 % g

4 % g

Question Number : 46 Question Id : 3354726876 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
T FT UL P o E T AT ae

Options :

1. ¥ fgarg
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2 R [T
3. % miow
4. % gigw

Question Number : 47 Question Id : 3354726877 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

AT FI-FF AT G & To1d U Ieg, 49 H F FIH AT 87
Options :

1. % wamg

2 ® g

3. ® gafrr

4. giq

Question Number : 48 Question Id : 3354726878 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

e @ Ay e T A e e ey
Options :

1. % Fg+Fue

2 ® fqa+aue

z ¥ f+@ue

4 % fotaus

Question Number : 49 Question Id : 3354726879 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
A T A Teg FE AT R ATE?

Options :
1. % gremm
2% s
3. ¥ ug
4 % Az

Question Number : 50 Question Id : 3354726880 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

T Fuett & 94T e Mg H A wTATE?
Options :

1. ¥ T

2 ® Faie

= ® TafE

4 ® Ty

Question Number : 51 Question Id : 3354726881 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
“TETT- T e H 9 # & =19 91 a0 27

Options :
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1. ¥ Joyey JHE
2 ® fgyHEE
= ¥ g uug

4. ® ggdify qomg

Question Number : 52 Question Id : 3354726882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
‘T wT g ©F FF H & HHATE?

Options :

1. Tagm
2. ® affzar
3. % offar
4. ® fWegT

Question Number : 53 Question Id : 3354726883 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

‘e T g e M H F B AT g?
Options :

1. % Zgr

2 % gz

3 % grg

4 ¥ gg

Question Number : 54 Question Id : 3354726884 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Thg T8 T SR 91 5790 & F9 @1 57
Options :

1. % gy

2% g

= ¥ @y

4. % T

Question Number : 55 Question Id : 3354726885 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
FET HRE T A AR g e
gﬁag:rmaﬁiw@ a1 ey giu?

Options :

1. ¢ S0 SFET
2 % ifdue sEwr
2. ® Hig AEEN
4 % IOw AFwT

Question Number : 56 Question Id : 3354726886 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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T T B T ST 75+ I @ AFAE E1AT 21° 56 1A B U e @ el feg, ad 18y, Al ik w2 H @RT

Options :

1. % ggmEmr
2 ® difder
z % e
4 & Temmer

Question Number : 57 Question Id : 3354726887 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

oI AT I ERT T ET S U e H T HRI -
Options :

1. % ardrar

2 ® g

3. srfgdta

4 ® wduw

Question Number : 58 Question Id : 3354726888 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

e & STTEIE IO AT Tel AT -
Options :

1. % aEerenr

2 %

z ® mgd

4 & ERIEE]

Question Number : 59 Question Id : 3354726889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

1 31 TIRE 5T - & Tohe U 1 Ty 87
Options :

1. ¥ Fienlie

2 ¥ PR

= ® argmETEg

4. % yuiererd

Question Number : 60 Question Id : 3354726890 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

“Mivem 7 TAE-Tvg =4
Options :

1. ® 1R &7 o

2 TIiie T 0T T aTAT (g
= % Tfc @t T g
4 % i
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Rural Economy and Panchayati Raj

Section Id : 335472206

Section Number : 4

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472206
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354726891 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The main function of Technical Support Group at Panchayatsis ______ | U § T SR S W e W

Options :

1. % Supervise the works | 12 %7 rddem AT

2. ¥ Arrange money | 9 @1 SATEEAT FAT

2. ¥ Give report | FoiE 24T

4. ¢ Assist in development plan preparation | T T=HT T8 T H ST HAT

Question Number : 62 Question Id : 3354726892 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Who functions as the Chief Executive Officer of Janpad Panchayat? | 08 U & TEI @Rl AT & &0 f
FI T FET 87

Options :

1. ¥ Chairperson of the Janpad Panchavat | 9902 T=ITd 7 723y
2. ¢ Ain official of the State government | T4 FE & T SATE@ERT
3. ¥ A Member of Legislative Assembly | T @9 &7 0 d=eg

4. ¥ Secretarv of the Panchavat | 74T &1 9=d

Question Number : 63 Question Id : 3354726893 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
which aqr%?g?g the following is NOT a major fruit crop of Madhya Pradesh? | Trgfeia § & &9 9T U@ A2 WS4T &7
TS el g 57

Options :

1. ¥ Grapes | &M
Z. % Orange | ga97
3. ¥ Papaya | U0@ET
4. % Banana | a7

Question Number : 64 Question Id : 3354726894 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong : 0
which one of the following is a cormnmercial crop? | FEEET # 9 B9 O B0 cOaT2® B 7

Options :

1. ® wheat | 1§
2. % Rice | g
= ® Maize | AgT
4. % Cotton [ #UH

Question Number : 65 Question Id : 3354726895 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

who among the following recormmends the Mmlmum ort Prices (MSF) and issue prices for paddy and
wheat? | MEETET # @ w19 w=Ean awds gra arah) ﬂm%aﬂTmmﬂgﬁfﬁqﬁﬁﬁw
Options :

1. ¢ Commission for Agricultural Costs and Prices | F0 /T U AT & Tog i
2. % NABARD | qmane

2. ¥ Ministry of Agriculture & Farmers' Welfare | F Ug = Feamm #3764

4. % NITI Aayog | 1T amim

Question Number : 66 Question Id : 3354726896 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

what is the percentage of work reserved for wormen under MGNREGS? | MGNREGS (A= #F 2i7iq Afgaret & o
ToFa= widara #1f 27

Options :

i % 330
A B
=% 134
&% 118

Question Number : 67 Question Id : 3354726897 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The Ashok Mehta commmittee on Panchavati Raj was appointed by the

HedT gt @t T T T o e am

Options :

1. ® UP4 | 7

2 % NDA | THET

= ® Congress | @G
4 % Janata | =471

government. | T T 0¥ 3781

Question Number : 68 Question Id : 3354726898 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Prirmary Sector of the Economy 15 related to

Options :
1. % Agriculture | Y
2. % Manufacturing | JeUEA

3. ® Inforrmation Technology | ST Wi
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4. ¥ Transportation | TRagT

Question Number : 69 Question Id : 3354726899 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The Balwant Eal Mehta Cormmrrittes suggested that the structure of Panchayati Eaj should consist of

aedd T Hgd T wHeT = garg foa fr T ST T |
Options :

1. #® the village, the district and the state levels | T, FaT 3T T 797

2. % the village, the mandals, the district and the state levels | TTH, A=, FAT 38 070 T
=, ¢ the village, the block and the district level | TH, T2 3T HaT #7970

4 % the mandals and the district level | H=a A 6T &0

_____ A

Question Number : 70 Question Id : 3354726900 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

which of the following irrigation projects is NOT located in Madhya Pradesh? | FEfaiad # & 14 df fé=m
Oie==T 72 ney o em :@“r%'?

Options :

1. ¢ Banki | =&t

2. % Barna | @1

=, % Indira Sagar | SR AR
4. % Ban Sagar | =9 AN

Question Number : 71 Question Id : 3354726901 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Central assistance 1o Madhvya Pradesh under Shyama Prasad Mukherjee Eurban Mission for the year 2017-18

gsﬁi;%ﬁen _____ ) Td 2017-18 % TolT STt waTs ga=il ®ad (09 & SiaTid Teal 0 &1 0g & T8 dgla Ggradr

Options :

1. ¥ Rs. 185-190lakhs | 185-190 A/ &7
2. % Rs. 191-195lakhs | 191-195 ARg #07
3. ¥ Rs. 196-200 lakhs | 196-200 AFT &7
4 ¥ Rs 201-2101akhs | 201-210 &@T7F F07

Question Number : 72 Question Id : 3354726902 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

which is the branch of science which deals with principles and practices of soil, water and crop managerment?
| To=IT T o i &1 AT & T BET, A 397 B Hael & gl SﬂTTF%ﬁlﬁﬁﬁﬂaﬁﬂ'%’?

Options :

1. ® Horticulture | IH&mMT

2. ¢ Agronomy | FE-EEE
3. ¥ Aerometry | THdT 99
4. ¥ Home Science | T a4

Question Number : 73 Question Id : 3354726903 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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which one of the following is suitable for growing as a mixed crop with wheat? | FgieEs # & &9 7 & |y
o waw & &1 I & TRy U 87

Options :

1. ¢ Mustard | atdf

2. % Soyvabean | HEM
Z. ® Tomato | TARY

4 % Tea | g

Question Number : 74 Question Id : 3354726904 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
what is the tenure of a Panchayat? | =TT &1 ST [Fd-T 51T 27

Options :

1. ® 5 years from the date of declaration of election results | FHTa TUTH ST g4 & fAf & 5 o
2. % 5 years from the date of first meeting | TSell da® 45 a4

2. ® 3 years from the date of election of chairperson | srewy & gTg @1 &2 & 3 o

4. # asdecided by Gram Sabha | €T TTH 97 &R e

Question Number : 75 Question Id : 3354726905 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The amount provided by Central Government under DEDA SChermne for the year Z2016-17 15 Detwear

g AEFT ZRT 201617 o o0 STEIT =11 & 954 W2 @1 T8 1140

Options :

1. % RBs 250-255 crores | 250 - 255 aﬂﬁgm
2. ¥ Rs 245-249 crores [ 245 - 249 FHIg €U
= ¥ Rs 240-244 crores [ 240 - 244 Fig U
4 % Rs 235-239crores | 235 - 239 Em?l’e.r?ﬁ':rq

Question Number : 76 Question Id : 3354726906 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

what is the prermium payable by farmers as a percentage of annual cormmercial or horticultural crops under
Pradhan Mantri Fasal Eima Yojana? | Wel= AaT BE aAT TrT1 o 271 o1 & ariter a1t =4 41
T T 7 Fa e nidarg &7 u=aT 57

Options :
1. % 10%
o4 o
z. ¥ 5%
4 % 3%

Question Number : 77 Question Id : 3354726907 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
According to the World Eanl, the per capita GDF Morminal) of India in 2016 is
T Y GIEIEED) &

Options :

| Torar o & argEr, 2016 #

1% 51863

10th Dec17 Shift 1



10th Dec17 Shift 1

o % S1642

$1723

4 % 51763

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 78 Question Id : 3354726908 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
India is NOT a member of which of the following organizations? | ¥Rg HgRrET # & o 9167 &7 gged 751 57

Options :

1. ® WIO | Sergelsil
2. ® G-20 | A-20

3. 9 G-5 | F1-8

4. % BIMSTEC | fdrads

Question Number : 79 Question Id : 3354726909 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
India’s Human development Index in 2015 is______ | 2015 § RE T A o qEwd a

Options :

1. ¥ 0367
2. ¥ 0624
3 % 0862
4 % 0561

Question Number : 80 Question Id : 3354726910 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The crop having the largest area under irrigation in India is ____. | 9T H &S & @77 969 92 47 T BaA

Options :
1. ¢ Wheat | 7

= % Pulses | T
2. #® Rice | @TEw
4, % 0il seeds | Faga

Cornputer Knowledge

Section Id : 335472207
Section Number : 5

Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20

10th Dec17 Shift 1



10th Dec17 Shift 1

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472207
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354726911 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The ______ 15 code embeddeq 111 S01me legitimate Prograrn that .iS St 1o "EXPIOdE” when certain conditions are
met. | ______ , T el WO | I E T 12 5T & o e it qor g4 o7 meerare i e o A R S 3
Options :

1. ¥ Trap doors | TWEW

2. % Trojan horse | g g1
2. ¥ Logic Bomb | @7 ade
4. ® Virus | IR

Question Number : 82 Question Id : 3354726912 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Wwhat are the two kinds of memory in a cormputer? | 0% FHEC § ®1H A1 &1 WFR HI AR g1 87

Options :

1. ® Hardware Memory and Software Memory | S18dax HAT Od SiFeday HANT
2 % short Term Memory and Long Term Memory | #7¢ €8 QONT Oa A1 <8 AAi
3. ® Arithmetic Memory and Logical Memory | SEiRT® AT 0d AT HATT

4 Read only Memory (ROM) and Randorn Access Mermory (RAM) | T2 SIH#T BANT (T1H) U S8 UHad JHRT (T8

Question Number : 83 Question Id : 3354726913 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

which of the following is an active cell in Excel? | Ugds B, AT ¢ & 919 9 0w 97 glveg Sd 561 57
Options :
1. % Current cell | #¢e &

2 % Forrrula [ AT

3. % Range | ¥
4. % Cell address | 99 U249

Question Number : 84 Question Id : 3354726914 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

what is the Ma?l Merge functionality in M35 Word used for? | TAUT a2 H O B F1ATqHEdT B FoT SUAT S1aT 57
Options :

1. ® Mail Merge is used to invoke Grnail or Outlook from MS Word. | e B, TAUE 92 § SHd T ST3eqd I T &
TRty SemTet e ATt €1

b W%]Mail Merge is used to enter email IDs in a document. | B# 74, T STagde § S0 SMEEST 0t F o Toiy fefam
~TdT
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3. ¥ Mail Merge is used to create and send bulk mail, labels and envelopes. | B B FT IUINT ToF Hel, sl T2
A T e T Ui we- & T Tomerm =maT 2

4 % Mail Merge is used to configure Gmail or outlook with MS Word. | He Sl & JUZNT S{THA AT A3 ®1 TATE
TE & T FI-BTE e o e Torar <maT 21

Question Number : 85 Question Id : 3354726915 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
What are the two entries needed to login a website? | UF dedEe § AT B o 6 F19 91 2 A2 S g1 a7

Options :
1. ® application name, ermail [T | U@t 0, S0 st
2 % Application name, usernarne | THH I 10, JFT 40

2. ® Username, email ID | AT 0, S0 AmEST
4 & Username, password | IeR 0, TTEds

Question Number : 86 Question Id : 3354726916 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
which one of the following is the soft copy output device? | S0 # ®I9 1 @FT ®T0T sMIeqe 2aEd 57

Options :
1. % Printer | Tiex

= % Monitor | #I-ET

o

3. ® Plotter | gATRT

%

4 % punch Card | T FE

Question Number : 87 Question Id : 3354726917 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

An alphanumeric combination like “ES” in Excel would mean a: | UFda § "BS" A9 750 (4 62 (STA® IR
aﬂﬂzﬁg” TeiTTa) T aref T B

Options :

1. % workbook address | ag® Tod
Z. % Worksheet address | @i 129
3. ¢ Cell address | A 729

4 % File name | BEa & A0

Question Number : 88 Question Id : 3354726918 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which icon is used to check spelling in MS Word? | THTE a2 # ga -1 (FUEm &7 T @t & oy 378 4 fore gt @1
FUT TR AT 27

Options :

1.%'3
E_éﬁj
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2 % Times New Roman =

ﬂ&p

W

Question Number : 89 Question Id : 3354726919 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The purpose of firewall in computer is: | HHYIET H BIETH & I29 0 517 2

Options :

1. % For security | HT&T F4 & o7

2. ® For monitoring | FIRET ¥& @ @0

2. ® For authentication | STTEMATR (ATt oo & o
4 % For data cormmunication | STET wHg e e & o

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 90 Question Id : 3354726920 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

___________ iz an example range in MS Excel. | ______, THIH UFAd H 1 %1 UF J21500 2l
Options :

1. % 41-B1

g T

2 % AltoAlQ

4 ® A1-A10

Question Number : 91 Question Id : 3354726921 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

_____________ is an Internet browser released by Apple. [ _____ U & ERT AN UF 5242 AT 2l
Options :

1. ¥ Chrome | ®F

2 % Firefox | BleRHIEd
3. ® Netscape | Jeeay
4. ¢ Safari | 9Fr

Question Number : 92 Question Id : 3354726922 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Wwhere are all the tabs (Home tab, Insert tab, etc.) located in M5 Word 20077 | THUR 98 2007 #, @ ¥ (510 3,
e T Tl Wt RO g 87

Options :

1. ¥ Title bar | TEEA I

2. % Status bar | goed A%

3. ¥ Ribbon | &=

-

4 # scroll | gwid

4
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Question Number : 93 Question Id : 3354726923 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Byiscsnn o shares hardware, software and data among authorized user. [ UdF _____ SIS Y, ATFecaT 3T S1eT @l
ARG o o ol il S5 e 2]

Options :

1. ¥ Network | 2o

= % [P} amEdT
Z. ® DNS j SiATg
4 ® CPU | €idg

Question Number : 94 Question Id : 3354726924 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

T IR, kev on the keyboard is used to erase anything typed on the left of the cursor. | #-a2 W
__________ T T ST FEC o 918 AN T8 F T Sqe & e T AT 81

Options :

1. ® Caps Lock | 0@ #lw

2 ¢ Backspace | o@qud

2. ® Delete | T&dlT

4. ¥ Cursor Control | TET F2id

Question Number : 95 Question Id : 3354726925 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
In Microsoft word 2007, bulletad list is available in which dialog box? | AEEETe g2 2007 ¥ goes o e

TR &1 U IO EiaT 57
Options :

1. ® Font | BT

2. % Styles | GTTEAT

2. ¢ Paragraph | TTTE

4

. ® Editing | T

Question Number : 96 Question Id : 3354726926 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Viruses, Trojan horses and worms are known: | G5, T 519 3T 910 ST 56 ol FE7 T1aT7 &

Options :

1. % To harm computer systern | HHIEY [GHen @1 g1 Ugar § 951 5 8

2. % To be undetected if affected on computer | T FATYLE FT GUHHTIET ®ed § T1 TGT T THT 51 57 31
2 ® Asuser-friendly applications | Uiigdl- 0T UyeiFa €7 # £id 2

4 #® As harriless applications resident on cormputer | FHYZET W 5 JTd 5N-ind Tqa i@ 51d g

Question Number : 97 Question Id : 3354726927 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

______ is a device that joins telecornmunication links and groups of computers together. |
Options :

1. ¥ Router | T3¢
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2 % Host | T
= % Hypermedia | STEWRHITSAT

4 ® Packets | Ode

Question Number : 98 Question Id : 3354726928 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The coding langL;?(%e used to create docurnents for use on the World Wide Web is: | G52 1SS del 0T JUZT F &
oI ETerede 39 B SETATH T S ATeT ST ATl I &

Options :

1. & HTML | TR e
= % HSMT | Tamaraet

2. ® HLMT | U=magee
4 % All of the above | IUigd a4t

Question Number : 99 Question Id : 3354726929 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
In wrwrw. GOOEle corm, waww stands for: | www. Google.com B, www 04 & 00 mg@d g1aT &

Options :

1. ® web World Wide | @& 968 T158

2 ¥ World Wide Web | g6g T15s oo

2. ® Wide World Web | a5 g o9

4 % world Wide Weblinks | I6g T152 ddieigd

Question Number : 100 Question Id : 3354726930 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

In M5-Wword, Thesaurus tool is used for: | THE g2 H, dERH g7 &7 04T
Options

1. % Finding words with sirmilar meaning | SR &g 1T F#

2 % Finding words with opposite meaning | U swf JTe Selg 19 #0
2. ® Copying of the word | JEg & BT #e
4. # Deleting of the word | feg @1 &6 T
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